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1. ¥Fipure | shows a simplified logic diagrum of & vending machine.  One problem
with this desigh is that afier puiting money input, if the buyer press Cand T, both
coffee and 1ea will be served with only single money mput.  (15%)
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(a) Add circuit to the diagram su thal the abnve mentoned problem can be avoided.
Provide truth table and 3ocdean expression for ceffee and few, {(Noteo if both
coffee and tea are onlered, only cotfee will be served )

(b Mow that there is a shottage of ANIY gates.  lmplernent the functionalivy of (a}
without using any AND pate.  Provide a Boclean expeession for coffee and 1ea
bazcd on your ciruit.

2. Explain and compare the following data srucwres.  {10%}
(a) Array
(B Queus
{c} Stack
(d] Linked list
(e Loubly linked hst

1. Convert the following numbers according to the requirements:  {8%)

fas 1107 1310 1081 (BT to Hexadecimmal number
(b) (291 )y (hexadecimaly 10 BCD

{c1 275 (1{(-based) to BCD
(d} 123 {8-based) to Hexaderimad code.

4. Explain what the following acronyms stand {or;  {12%)
HAM BiC}S
RO ' el
FCMOLA CO-ROM
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Diapram major components of a typical personal computer system imeluding
commonly uzed input and putput devices.  Explain the function of eych myjor

compenent.  [10%%)

G, A[1(HY) 1s an array o 32-Til real nomiber aod the compuler 15 a 16-bu machane. 1
the address of ACLD) 1s ar O0FD,.  Whet is the address of A7 (8%)

I () Lxplain and compare “whele” stafetnan and “do-while™ staternent tn €
programroag langrage.  {5%)
(B} Kxplain and compare “for’” statement zod “while™ sialement in O progm@mming
language.  {5%)

8. Assumiog thet imtart]] is an one-dimenmsional ammay centaining integer elements,
Which of the {vllowing statement represents the stored value of the third clemen? of
the array * (3%}

{a) *(intarr + 2}
b3 “timar + 4)
{c] intar:+ 4
(d) intarr + 32

3. Whats the output of the following C program?  {10%)
frrains]
{
ime i- 21
i - T
=%+ 3%
* o= w7
gringi vadln®, 1 2 )

L0, Write an algorithm to locate fiest 1000 prime nonbers and stoce them in the ATy
FLI0G0).  Draw the flow chart for your algorithm,  {12%)




